Mixed Operations

Name: Class:

Calculate

6 x 18 +125 = 4 x 66 +305 =

4 x23 +115 = 7 x54 +109 =

2 x45 +223 = 9 x21 +154 = 7 x22 +678 =
8 x37 +207 = 3 x19 +432 = 6 x16 +432 =
3 x16 +432 = 5 x40 +700 = 8 x11 +789 =
8 x22 +671 = 4 x13 +327 = 9 x25 + 145 =
5 x25 +436 = 2 x17 +675 = 5 x12 +456 =
7 x30 + 332 = 6 x21 +335 = 4 x18 +765 =
3 x30 +456 = 5 x54 +543 = 3 x15+123 =
6 x 13 +765 = 4 x 66 +222 = 6 x14 +105 =
2 x26 +312 = 7 x 32 + 580 = 5x25+135 =
9 x14 +109 = 6 x 11 +654 = 2 x19 +477 =
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Calculate

6 x 18 + 125 =233

4 x23 +115 =207

2 x45 +223 =313

8 x 37 +207 =503

3 x16 +432 =480

8 x22 +671 =847

5 x25 +436 =561

7 x30 + 332 =542

3 x30 +456 = 546

6 x 13 +765 = 843

2 x26 +312 =364

9 x 14 + 109 = 235
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Answers

4 x 66 +305 =569

7 x 54 + 109 = 487

9 x21 + 154 =343

3 x19 +432 =489

5 x40 + 700 =900

4 x 13 +327 =379

2 x17+675=709

6 x21 +335 =461

5 x54 +543 =813

4 x 66 + 222 =486

7 x 32 + 580 = 804

6 x 11 +654 =720
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7 x22 +678 =832

6 x 16 +432 =528

8 x 11 +789 =877

9 x25 + 145 =370

5x12+456 =516

4 x 18 +765 =837

3 x15+123 =168

6 x 14 + 105 = 189

5 x25 +135 =260

2 x19 +477 =515



